18 1C

1) (3) +(-10) = -13 1) 40+2C-2C-2Q-3C= M) 4+(-2)=-2
{2C - 2C - 3C)+ (40 - 20) = -3C + 20

2) (3)-010)=-13

3) 6-(-5)=6+5=11 12) (5P =(-5)({-5) = 25
%) S5M-7+3M-44+5=
(-5M + 3M) + (-7 - 4 4 5) = -2M - 6

4) (8)-(5)=(8)+5=-3

13) 44(-2)=2
§5) SD-6C +8D-3C+B=
B+ (-6C - 3C) + (50 + 8D) = 3 2A-3B+4C-A+B+C=
(B) + (-9C) + (13D) =B - 9C + 130 ' (2A - AW (3B + B) + (4C + C) = A - 2B + 5C
(This could be comectly writlen ina 14) 42 = -{4){4) = -16
different order, but putting unknowns in
alphabetical order is customarny.)
4) A-5-2A+T-1=
(A -2A) + (5T -1)= 24 +1 1 .-? I,,.;' 1
B) 2A+B-A+3B=(2A-A)}+ (B +3B) = B e T ST
A+ 4B ‘
5 4X-3¥-BY + 10X -5 =
nmmcmqmsc. - 8Y) - 5 = 14X - 9Y -
{(3C-C-5C) +(5Q + Q +40Q) = (4% + 10K} + (-3Y - 0¥) < 5= 14X -9¥ - § P 1 _ 55
=3 + 100 2 G 12 144
B) 204+5X-6Y+Y+2x+X-0=
(20-9) + (5K + 2X 4 X) + (8Y + ¥) = B) 15X-4Y-BX+Y= | P 5 12 5§
11+ 8X - 5Y 15X - 6X) + (-4Y + ¥) = 9X - 3Y — g — i — -
( Lt alhl M 3+ % =% * 5 "1z

) 2X +2-X 42K =
(2K +2X=-X) + (2) =3 + 2

15 18 105 _ 36 _ 105
7) 15X+ 6X-4Y -5Y - 14X+ 10 = M) e s, i g B
10) 3Y-1+2Y-1-4Y= (15X 46X 14X) + (4Y - 5Y) + 10 2 77 "4 "Ta T Tae
@Y +2Y - aY) 4 (1-1) =¥ -2 aY + 10 ”
2
11) SA-6B8-3B+10A-8=
(SA + 10A) + (-68 - 38) + (-8) =
15A-98-8
8) 3A-4B+6A+ 7B +8 =
(A +BA)+ (4B +TB)+B=0A+ 3B + 8 19) ! + 4 2 X 5 __5
12) 18X .5Y.9X+Y= 3 '3 "3 *a Tz
(18X - 9X) + (5Y + Y) = 9X - 4Y (note answer for £17)

5 =
_ . 15 18 “# 7 _ 35 '
14) brue; S0 solulon for 1A #10 e JL e T - -
; 0 -3 7 z * .u!; 12 E
15) false; soe solution for 1A #11 10) (81)+(-9)=9 2? (note answer for #18) >
3
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1} 24 -38 + 44+ 4B -5A = 13) T: ® = | & i
I [EA-H.F: ‘.TH-BEH#EII—JHB 1 e ‘E':. 4 ) (91800 1+4+9) " ’,H'EH EAEX S
14 (=) 14 2 8
P P
3) 18X + 5X - 6Y - BY - 11X + 10Y = 14) T;.l""‘ X 2 =2 2N
(18X 4 5K - 1) + (6Y -8Y + 101 = , T A7 2) yes 7 N
12X =
B 7 56 56 @8 3) 9+3 (8149
§ " 14) 54 2xIxn3IxI
3) 4A-4B 4+ 16A+7B 4 18 4 —— T O L 7 N
4A 41 1-454?51”3- 8 2 27
+ 38
16) -] 4+ ] = 3 X L = 35 = :;f ‘kg
8 7 8 1 8 4 no SN
3 3 3
4) 5X+3+48X-4= o
(5X +8X)+(3-4)=3X-1 5 12x3 O 12x3
17 28 2x2x7 15 i
% . 36 () 6 ) JA 2x2x2x3x3
2 14 8 16
B) BK -G+ 3K-2K + 3=
(BK + 3K - 2K) + (-6 + 3) = 9K . 3 ; “NT g Ef’ ""h
AN
18) ,r"'rdz'"'\ 2x3x7 2 ,.-f""g"'*\
6) 10C-3C-9D+3D-C= 110-4 11-
(10C - 3C - C) + (-0D + 3D) = 6C - 6D 2 ﬁ?[ﬂ~~ 7 10-4 ) 11125 3 3
3 7 106 () -114
19) 48 2x2x2x2x3 19 0 ex2x3x3
7) 13A-8Z-2A-12Z= /N 8 no N
{131*2#!"'{*33'121]-"#-3}2 5 a4 2 “,.-""15'\%
FARN
2 ,—}2‘*\ 1 x = "/9\"
-4 - 7D 9) x X .- 3 k)
8) 7D-4D-4+5D+8 = - 2 6 4 F.4 K4
(7D-4D +5D-70) + (4 + By =D + 4 SN 1 1
2 3
: 24 2x )2 2
17) o i g
2) 1w 2x2x5x5 R A ) 36 “3xje - 3 12ieGCF
2 1
; \55 9 10 2x§F _ 2 . LGcF
10) -39 = -(3)(3)(3) = -27 ;"' \‘5 7 . g8 28 25  sx& 5
1) —— 4 - + -
8 32 a2
Rules for divisshility, 56
0 = . —_— D 20 23148 2
2 ends in even number
3 digits add 1o mulliple of 3
12) (-4)-(-3) = (-4) + (+3) = -1 9 digits add to multiple of 9 - 7 . 7 ) 1:. M_J?.E - 32 4xg 4 -
5 ends in 5 or 0 4 I S 4 56  7am 7 -

31 - QI suoinjog



